



SOME NESTED SUMS IN TERMS OF THE RIEMANN ZETA FUNCTION AND THE DIRICHLET BETA FUNCTION

Sumit Kumar Jha

International Institute of Information Technology, Hyderabad, India
 kumarjha.sumit@research.iiit.ac.in

Received: 8/13/20, Accepted: 2/11/21, Published: 2/23/21

Abstract

We derive some formulas for the Riemann zeta value $\zeta(k)$ in terms of nested sums of depth k and depth $k - 1$. Additionally, we derive formulas for the Dirichlet eta and beta values $\eta(k)$ and $\beta(k)$ in terms of depth k nested sums.

1. Main Results

Theorem 1. Let $k \geq 2$ be an integer, and $\zeta(k) = \sum_{n=1}^{\infty} n^{-k}$. Then we have

$$\zeta(k + 1) = \frac{1}{k} \sum_{1 \leq i_1 \leq i_2 \leq \dots \leq i_k} \frac{1}{i_1 i_2 \dots i_{k-1} \cdot i_k^2}, \tag{1}$$

$$\zeta(k) = \frac{1}{k - 1} \sum_{1 \leq i_1 \leq i_2 \leq \dots \leq i_k} \frac{1}{i_1 i_2 \dots i_k \cdot (i_k + 1)}, \tag{2}$$

$$\zeta(k) = \frac{1}{2^k - 2} \sum_{1 \leq i_1 \leq i_2 \leq \dots \leq i_k} \frac{1}{i_1 i_2 \dots i_k} \cdot \frac{\binom{2i_k}{i_k}}{2^{2i_k}}, \tag{3}$$

$$\eta(k) = \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n^k} = 2^k \sum_{1 \leq i_1 \leq i_2 \leq \dots \leq i_k} \frac{1}{i_1 i_2 \dots i_k} \cdot \frac{1}{2^{i_k/2}} \cos\left(\frac{\pi i_k}{4}\right), \tag{4}$$

$$\beta(k) = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n + 1)^k} = \sum_{1 \leq i_1 \leq i_2 \leq \dots \leq i_k} \frac{1}{i_1 i_2 \dots i_k} \cdot \frac{1}{2^{i_k/2}} \sin\left(\frac{\pi i_k}{4}\right), \tag{5}$$

$$\beta(k) = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n + 1)^k} = 1 - \sum_{1 \leq i_1 \leq i_2 \leq \dots \leq i_k} \frac{2^{i_k - 1}}{i_k \binom{2i_k}{i_k}} \cdot \frac{1}{(1 + 2i_1)(1 + 2i_2) \dots (1 + 2i_k)}, \tag{6}$$

where the summation is over all k -tuples (i_1, i_2, \dots, i_k) of natural numbers satisfying $1 \leq i_1 \leq i_2 \leq \dots \leq i_k$ for fixed k , and $\eta(k)$ and $\beta(k)$ represent the Dirichlet eta and beta functions, respectively.

Remark 1. The equation (1) follows by the so-called *sum formula*, proven by Granville [1].

Equation (2) can then somehow be seen as a consequence of (1) by the stuffle regularization of multiple zeta values applied after a partial fractions decomposition. The formal cancellation of these divergences is permissible within the stuffle-regularization framework.

We give different proofs of (1) and (2). The equations (3), (4), (5), and (6) appear to be new.

Proof. The *polylogarithm function*, $\text{Li}_k(z) = \sum_{l=1}^{\infty} \frac{z^l}{l^k}$, has the following representation [2, 3]:

$$\text{Li}_k(z) = - \sum_{1 \leq i_1 \leq i_2 \leq \dots \leq i_k} \frac{1}{i_1 i_2 \dots i_k} \left(\frac{-z}{1-z} \right)^{i_k}, \tag{7}$$

where $\Re(z) < 1/2$. The formula 3.2.1.6 in book [4] gives us the following:

$$\zeta(k+1) = \frac{-1}{k} \int_0^{\infty} \frac{\text{Li}_k(-x)}{(x)(1+x)} dx, \tag{8}$$

$$\zeta(k) = -\frac{1}{k-1} \int_0^{\infty} \frac{\text{Li}_k(-x)}{(1+x)^2} dx, \tag{9}$$

$$\zeta(k) = \frac{1}{\pi(2-2^k)} \int_0^{\infty} \frac{x^{-1/2} \text{Li}_k(-x)}{1+x} dx. \tag{10}$$

The integral (8) gives us (1) after the fact that

$$\int_0^{\infty} \frac{x^{i_k-1}}{(1+x)^{i_k+1}} dx = \frac{1}{i_k}.$$

The integral (9) gives us (2) after the fact that

$$\int_0^{\infty} \frac{x^{i_k}}{(1+x)^{i_k+2}} dx = \frac{1}{i_k+1}.$$

The integral (10) gives us equation (3) after the following calculation:

$$\begin{aligned} \int_0^{\infty} \frac{x^{i_k-1/2}}{(1+x)^{i_k+1}} dx &= \frac{\sqrt{\pi}}{i_k!} \cdot \Gamma(i_k+1/2) \\ &= \frac{\pi}{i_k!} \left(\frac{1}{2} \right)^{(i_k)} \\ &= \frac{\pi}{i_k!} \frac{1 \cdot 3 \cdot 5 \cdot \dots \cdot (2i_k-1)}{2^{i_k}} \\ &= \frac{\pi}{2^{2i_k}} \binom{2i_k}{i_k}. \end{aligned}$$

To prove (4) and (5) we recall that $\text{Li}_k(-i) = -2^{-k}\eta(k) - i\beta(k)$ and then use series representation (7).

To prove (6) we use the following result from [3]:

$$\begin{aligned} \text{Li}_s^\alpha(w) &= \sum_{n=1}^{\infty} \frac{w^n}{(\alpha+n)^k} \\ &= - \sum_{1 \leq i_1 \leq \dots \leq i_k} \frac{(i_k-1)!}{(\alpha+1)(\alpha+2)\dots(\alpha+i_k)} \frac{1}{(\alpha+i_1)(\alpha+i_2)\dots(\alpha+i_{k-1})} \dots \\ &\quad \left(\frac{-w}{1-w}\right)^{i_k}. \end{aligned}$$

Letting $\alpha = 1/2$ and $w = -1$ in the above we get (6) at once. □

Remark 2. The integral relation

$$(m+n)\zeta(1+m+n) = \int_0^\infty \frac{\text{Li}_m(-1/t)\text{Li}_n(-t)}{t} dt$$

translates to the identity

$$(m+n)\zeta(1+m+n) = \sum_{\substack{1 \leq i_1 \leq \dots \leq i_n \\ 1 \leq j_1 \leq \dots \leq j_m}} \frac{1}{i_1 \dots i_n} \frac{\beta(i_n, j_m)}{j_1 \dots j_m}$$

in view of (7). Here $\beta(i, j)$ represents the Beta function.

Remark 3. Some relevant work highlighting the applications of the polylogarithm and related functions are [5, 6, 7, 8].

References

[1] S. A. Zlobin, Relations for multiple zeta values, *Math. Notes* **84** (2008), 771–782.
 [2] K. Dilcher, Some q -identities related to divisor functions, *Discrete Math.* **145** (1995), 83–93.
 [3] M. Emery, On a multiple harmonic power series, preprint, 2004. Available at <https://arxiv.org/abs/math/0411267>
 [4] Y. A. Brychkov, O. I. Marichev, and N. V. Svischenko, *Handbook of Mellin transforms*, CRC Press, 2019.
 [5] D. S. Kim and T. Kim, A note on a new type of degenerate Bernoulli numbers, *Russ. J. Math. Phys.* **27** (2020), 227–235.
 [6] T. Kim and D. S. Kim, Degenerate polyexponential functions and degenerate Bell polynomials, *J. Math. Anal. Appl.* **487** (2020), Art. ID 124017, 15 pp.
 [7] T. Kim, D. Kim, H. Y. Kim, H. Lee and L. C. Jang, Degenerate poly-Bernoulli polynomials arising from degenerate polylogarithm, *Adv. Difference Equ.* (2020), Paper No. 444, 9 pp.
 [8] D. S. Kim and T. Kim, A note on polyexponential and unipoly functions, *Russ. J. Math. Phys.* **26** (2019), 40–49.